
1

GS Chain Gobbler MAG/GT GS600112

SCALE 1 : 2

8

4

1
3

5
6

7

9
3

14

11

10
13

12

2

4

4
4
4

4

4

4
3

REVISIONS
REV DESCRIPTION DATE APPD.

1 INITIAL RELEASE 4/1/2021 AM

2 UPDATED FOR DOMESTIC MANUFATURING 4/13/2021 AM

3 ADDED ITEM 9 WAS 55MM LONG 5/12/2021 AM

4 ADDED QUICK RELEASE CLAMP PARTS 12/1/2021 AM

5 UPDATED HARDWARE PART NUMBERS, ITEMS 3, 9 3/23/2022 AM

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 GS000481 GS CHAIN GOBBLER ROD WASHER 2

2 GS000482 GS CHAIN GOBBLER MOVING IDLER ROD 1

3 WH000082 M8x1.25mm STAINLESS STEEL NYLON-INSERT 
LOCKNUT 1

4 WH000008 M8X1.25 X 35MM long, Stainless Steel SHCS 
Full Thread 1

5 WH000009 M8x1.25mm  x 55mm Long Stainless Steel 
SHCS 1

6 TT000261 IDLER, 10T DELUXE 2

7 GS000483 GS CHAIN GOBBLER MOVING IDLER SPACER 1

8 GS000484 GS CHAIN GOBBLER FIXED IDLER SPACER 1

9 WH000083 M8x1.25 x 50MM SHCS STAINLESS STEEL 1

10 WC000063 SPACER FOR GS BOOM CLAMP, 13mm 
LONG 2

11 WC000064 SPACER FOR GS BOOM CLAMP, 10.5mm 
LONG 2

12 WH000007 M6x1.0 Nylon Locknut SS 2

13 WH000055 M6 Flat Washer w/12mm OD, SS 2

14 WC000062 QUICK RELEASE CAM LEVER - M6 THD 2

5

3/26/2021ADAM M

 UNLESS OTHERWISE SPECIFIED:
 DIMENTIONS ARE IN MILLIMETERS
 UNSPEDIFIED TOLERANCES:
 ANGULAR: MACH  .5°   BEND 1°
 LINEAR:  .X      1.0
               .XX    0.4
               .XXX  0.13

THIRD ANGLE PROJECTION
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF WIZWHEELZ INC.  
ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT WRITTEN PERMISSION IS PROHIBITED.

 MATERIAL

 FINISH

DRAWN BY

APPROVED

DATENAME
 PART NAME:

SIZE

B
 Part Number: REV

SCALE: 1:3 SHEET 1 OF 1

GS600112

DO NOT SCALE DRAWING

GS CHAIN GOBBLER STANDARD GT AND MAGNUM

SEE COMPONENT LEVEL

A A

B B

4

4

3

3

2

2

1

1

SCALE 1 : 2

8

4

1
3

5
6

7

9
3

14

11

10
13

12

2

4

4
4
4

4

4

4
3

REVISIONS
REV DESCRIPTION DATE APPD.

1 INITIAL RELEASE 4/1/2021 AM

2 UPDATED FOR DOMESTIC MANUFATURING 4/13/2021 AM

3 ADDED ITEM 9 WAS 55MM LONG 5/12/2021 AM

4 ADDED QUICK RELEASE CLAMP PARTS 12/1/2021 AM

5 UPDATED HARDWARE PART NUMBERS, ITEMS 3, 9 3/23/2022 AM

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 GS000481 GS CHAIN GOBBLER ROD WASHER 2

2 GS000482 GS CHAIN GOBBLER MOVING IDLER ROD 1

3 WH000082 M8x1.25mm STAINLESS STEEL NYLON-INSERT 
LOCKNUT 1

4 WH000008 M8X1.25 X 35MM long, Stainless Steel SHCS 
Full Thread 1

5 WH000009 M8x1.25mm  x 55mm Long Stainless Steel 
SHCS 1

6 TT000261 IDLER, 10T DELUXE 2

7 GS000483 GS CHAIN GOBBLER MOVING IDLER SPACER 1

8 GS000484 GS CHAIN GOBBLER FIXED IDLER SPACER 1

9 WH000083 M8x1.25 x 50MM SHCS STAINLESS STEEL 1

10 WC000063 SPACER FOR GS BOOM CLAMP, 13mm 
LONG 2

11 WC000064 SPACER FOR GS BOOM CLAMP, 10.5mm 
LONG 2

12 WH000007 M6x1.0 Nylon Locknut SS 2

13 WH000055 M6 Flat Washer w/12mm OD, SS 2

14 WC000062 QUICK RELEASE CAM LEVER - M6 THD 2

5

3/26/2021ADAM M

 UNLESS OTHERWISE SPECIFIED:
 DIMENTIONS ARE IN MILLIMETERS
 UNSPEDIFIED TOLERANCES:
 ANGULAR: MACH  .5°   BEND 1°
 LINEAR:  .X      1.0
               .XX    0.4
               .XXX  0.13

THIRD ANGLE PROJECTION
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF WIZWHEELZ INC.  
ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT WRITTEN PERMISSION IS PROHIBITED.

 MATERIAL

 FINISH

DRAWN BY

APPROVED

DATENAME
 PART NAME:

SIZE

B
 Part Number: REV

SCALE: 1:3 SHEET 1 OF 1

GS600112

DO NOT SCALE DRAWING

GS CHAIN GOBBLER STANDARD GT AND MAGNUM

SEE COMPONENT LEVEL

A A

B B

4

4

3

3

2

2

1

1

Remove boom clamp bolts. Install Quick Release Levers (14), Boom Clamp Spacers* (10/11), 
M6 Flat Washers (13), and M6 Nyloc Nuts (12).

*Note: Boom clamp spacers are model specific. For Magnum models, use 10.5mm spacers 
(11). For GT models, use 13mm spacers (10).

Boom clamp spacer



2

3

Route chain as shown below. 

Install Moving Idler Rod Assembly on boom mount using the M8x35 bolt (4) and M8 Nyloc 
Nut (3).

4

800.945.9910 |  www.greenspeed-trikes.com
4460 40th St. SE  |  Grand Rapids, MI  49512  USA

Install 10t Idler (6) and Fixed Idler Spacer (8) onto frame using the M8x55 bolt (5).


